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(1) (BB O]

#101 : 550kex800 [/kg = 440, 000 [
#102 :1,370 kg X800 [ /kg = 1,096, 000 [
# 103 :1,500 kg x800 /Mt = 1,200,000 [ HEEM B &5 2, 736, 000 1
(ft: 70
1 # i 2,736,000 | #f £t 2, 736, 000

2) [E#THEOHA]

# 101 ;600 Xx1,500 [/ = 900, 000 9

# 102 :910FFRIX1,500 /B = 1,365,000 [

# 103 :870FFRIX1,500 /K = 1,305,000 [ HE B E A E ¢ 3,570,000
[T %EDFE]

W HXEAE 1, 850, 000 424 AREAE 684, 000 M — /i H A5 770, 000 =1, 764, 000 [

(ft: &)
7t # i 3,570,000 | & 4 - B 5, 334, 000
I T I - ¢ 1, 764, 000

(3) [B&feeEr TR R D FHE]
RGBT E RO - ARG R T E%E 56, 880, 000 [ 4[] T E BB/ ESE R 36, 000 FFfH
= 1,580 M /MR

# 101 :600M/EXx1,580 0/ = 948, 000 [

#102 :910 R X1,580 M/ = 1,437,800 1

#1103 :870FFRIX1,580 M/ = 1,374,600 G A ¢ 3, 760, 400 [
(ft &)

(N #H A 3,760,400 | # & M B # 3, 760, 400
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(1) [EEA B OFHR]

NG =T R

1,800 kg X 1, 650 [/kg=2, 970, 000 1

¢ I‘%ﬁﬂ]ﬁ@ ﬁﬁ%]

(ft: 70
% £t 2,970,000 | & H 4 2,970, 000
(2) JFAmEE RO EEMEHE A5 ¢ 2,610,000 M
(ft: 0
T # & 2,610,000 | #4 £} 2,610, 000
(3) [EEMEIER Y 7 212k 0]
(ft &)
HOE MmO A= R 82,500 | #t Pt 82, 500
12 SRy 7 212k ]
56 B A RO = 3,260,000 | M
3
oo M OB " (AT : 1)
£ OB R £ M 2, 300, 000 T o B O %A 2, 220, 000
¥ B o= R 50, 000
B ¥ oE £ R 30, 000
2,300, 000 2,300, 000

TRER . RGBT HEAE 2, 250, 000 [ — SEEEFE AR 2, 300, 000 1= A50, 000 [ (RF]ZER)
BT E R . T ERUREE 2, 220, 000 M —RUERTEEE T HEE 2, 250, 000 F = A30, 000 F (RF]ZEH)




BEXE [La7k (K22 (—8) ) |

[EREZES ¢
AWEE 200kg | M HHE
@1, 500 M /kg [silist Rz A ]
300, 000 [ 2,610, 000 [
EPEEI VN 1,800 ke | AXRFE 350 kg
@1, 650 [ /kg @1, 650 9 /kg
2,970, 000 [ 577,500 [
MEE= & iy <5et MEE= iyt
(RF7Z=5)
82, 500 [

KIHBEME AR, EH00—HITETFRAY £7,

(R 2 T

HuA = 2 H 5ERk

#201
0 H
3,260, 000 M

LHEAN

#201~202

Usfiztagast] | AARAR
6, 260, 000 1 #202
3,000, 000 4
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W B A T E RO
(s R £ AET]
2,220, 000 4
[BZEAMKLED] TS
2, 300, 000 H4 50, 000 M
i g et
30, 000 H
2EXE [Rifipth : AEFR]
ERRIEAFA
2, 300, 000 [
A\ 4
FHRER
A50, 000 Y
PhEER =R
A30,000 4
1 REM T EAE
| 2,250,000
T E R R AR
2,220, 000 [
Q\ A
TR /1 — ot e
FE ] FRFE




SEXE (RfistEER (8B4E%) |

#201 #201—1 #202 = it
[ERE I 7 A SO ¢ 1, 110, 000 [ 250, 000 [ 1, 250, 000 [ 2,610, 000 [
B O OY OB B 560, 000 1 130, 000 1] 740, 000 [ 1, 430, 000 1]
LU N ¢ 930, 000 [ 280, 000 [ 1, 010, 000 [ 2, 220, 000 [
/N Z 2, 600, 000 [ 660, 000 1] 3,000, 000 [ 6, 260, 000 1
ft. #H # 660, 000 [1] A660, 000 [1] 0 [ 0H
& 2 3, 260, 000 [ 0 M 3,000, 000 6, 260, 000 1
i % FERK #2011~ | B CRIERD)




= [BEERMmHEE - R EEOMER]
M1 [ - "WaERy 7 22k 0 ]
6 H O HARAH R 6,418, 000 H
6 A o A AR5 R 3,060,000 |
fil 2
& SRl R A E (BAAZ : 1)
I & B M OB % 2, 137, 000
o & #% % % % 2,657, 000
m o o R 4, 052, 000
YA s 8, 846, 000
H A A g 6, 418, 000
= G 15, 264, 000
A ARATE A E 1, 490, 000
BN S e 13, 774, 000
E - S (HA7 - M)
I 5t = [ 16, 029, 000
o 7 k JE ff
A 1185 E & 3, 060, 000
Y A S S U 13, 774, 000
& &h 16, 834, 000
ARG E) 5,419, 000 11, 415, 000
g b R Fl 4% 4,614, 000



SBEXE (TIR7THR (Rv 7R (—81) ) |

[ 7 A]
O : T
AWA & #302. #303 | X4 Hs52R% #302~#304
6, 418, 000 [ 13, 774, 000 1
EPEESIN
#302~#305
AKREE #305
8, 846, 000 [
1, 490, 000 1
! i
A WA #301 | X4 HHR5E #301~#303
3, 060, 000 [ 11, 415, 000 9
% H 5ERk #302~#304 | A KA #304
13, 774, 000 1 5, 419, 000




SEXE (RfistEER (8B4E%) |

[7A]
#301 #302 #303 #304 #3065 & h

A 0 | 4,535,000 | 1,883,000 M 0M 0 | 6,418,000 [
[EREI IR 0 0 438,000 § | 1, 330, 000 [ 369, 000 [ | 2,137,000 [
RSt = 0H 178,000 M 235,000 [ | 1,744,000 [ 500, 000 [ | 2,657,000 [
BUS eS¢ 0H 397,000 M 689, 000 [ | 2,345,000 [ 621,000 [ | 4,052,000 [

& &t 0/ | 5,110,000 [ | 3,245,000 [ | 5,419,000 [ | 1,490,000 [ | 15, 264, 000 [1]

i & TERK ¢ GIIEVE | oAk - SHEW | SERK - BIEWE | SER - RS A

KFROATTIE, B & R0 4,
[6A]
#301 #302 #303 & &h

[ERCIE 600, 000 [ | 1,200, 000 [ 450, 000 4 | 2, 250, 000 [
BRI %%E | 1,350,000 9 | 1,482,000 775,000 9 | 3,607,000 [
RIYERTHEE | 1,110,000 [ | 1,853,000 M 658,000 [ | 3,621,000 H

& 3,060, 000 4 | 4,535,000 4 | 1,883,000 4 | 9,478,000 4

i & SERK e e




